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HALF YEARLY EXAMINATION - 2023

10 -STD

Time: 3.00 Hrs, Mathematics

Maximum Marks - 100
PART- I (Marks - 14)

Note: i) Answer All the 14 questions

s

8.

ii) Choose the most suitable answer from ﬁ_jven the four alternatives and write the option
code with the corresponding answers. 4x1=14

Let A= {1,2, 3,4} and B= {4, 8'9,10}. A function f:A— B givenby
= {(1, 4),(2 8),(3.9),(4.10)} isa ‘

(A) Many-one function (B) Identity function

(C) One-to-one function (D) Into function

If / is a constant function of the value —, then the value of (1) £(2)+.+/(8) i

(A).-;- (B) 1 (C) 8 (D) 0

IfA=2% and B=2% +2% 4252+ +2° which of the following is true?

(A) B is 2% more than 4 (B) A and B are equal

(C) B is larger than A by 1 (D) A is larger than B by 1 |
If the HCF of 65 and 117 is expressible in the form of 65m—117, then the value of m is
(A) 4 _ (B) 2 © 1 (D) 3
Thesoiutionoftheéyslem1+y—3:=—6, —Ty+ 72=7,32=9s

(A) x=1,y=2,z=3 (B) x=-1,y=2z=3

(€) x=-1, y=-2,z=3 (D) x=1 y=-2,z=

If the roots of the equation g'x* + p'x+r =0 are the squares of the roots of the equation
g +px+r=0,theng, p, r arcin

(A) AP (B) GP (C) BothAPandGP (D) Nome of these

Rl S Ty X
I{A=[6 _3],thm A s

(16" 4 4 2 § 4 4 2
@) (36 9) B (6 -3] i (-12 —6) 0 (—6 3)

If AABCis an isosceles triangle with ZC=90" and AC=5 cm, then 4B is

(&) 25cm (B) 5em © 10em D) Soem

)
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point (6, 4)

A garden roller whose length is 3 m long and whose diameter is 2.8 m is rolled to level 4 garden.
%mmhﬂncﬂ\raerﬂolmm?

If total surface area of a solid hemisphere is 675x sq.cm then, find its curved surface area.
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.' 22, Prove that (""'a*h"ﬂ)rl—sm’aom-‘e :

Find the equation of & straight line which s parallel to the fine 3x~7y =12 und passing through the

i 25

! 26. The standard deviation and coefficient of variation of a data are 684 and 57 respectively. Find the
value of mean.

M

: 27. Express the sample space for rolling two dice using tree diagram. ) N
' ' ‘n_’ ,P

] 28. FﬂﬁeMafﬂrMmf(beth—Ji-x’ 'L"""f'

o
9 )

PART - 11T (Marks + so) 4; N
Nd: Answer TEN questions. Omﬂunbu'ﬂiscomp&om.l 10x5=50

s

'
29. A={xeN/l<x<4), B={xeW/ 0<sx<2} and C={xeN/x <3}, checkif

A<(BNC)=(AxB)(AxC) s true? b 'Lf;'t '

30. The function 1 MWW% (C) mto temperature in Fahrenheit (F) is

defined by #(C)= F , where F = gca,a ’
() (o) (i) r @' (1) r(~10)

e —— T T T ——

(1v) the value of ¢ when 12
1 (v) the temperature when value is equal to the Fahrenhet value.
| 3. lnan AP, sum of ive terms 15 28 and their sum of their squares 15 276. Find the four
l-' numbers. '
: 32. F'-dlléﬂlo of the series 7+77+ 777 +....
X 0= then find the value of —— - e
e _’,.‘."’.';?;-9 3oy P P-g

gg, a:‘-pm’%ﬂymﬂuapﬁqmmumwoh ml b.
= 1rl" 148 d

-y
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